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December 1

A line which passes through the points

(1,-5) and (-2,6). (,',5\
a) What is the equation of the line (in general
form)? M=Y,Y Y-y, 2 m(%-¥1)
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Writing an Equation of a Line That Is Parallel
Example 4 or Perpendicular to a Given Line

Write an equation for the line that passes through R(1, —1) and is:

2
a) parallel to the line y = 3* 5

—

b) perpendicular to the line y =

| b

x—5
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o) m=7Z R(1,-1) LY Im=-=3 R(\,~\)
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.5 Slope-Point Form of the Equation for a Linear Function
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Practice problems...

Page 372: #5,9, 11,12
“5 m=-S (~42)
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